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• page.23、(3.28)式

正 : p⃗n =
2π~
L

n⃗

誤 : p⃗n =
2π

L
n⃗

• page.55上部、⟨cα⟩の 1行下

正 : · · ·自由粒子の波動関数で評価するとpic
2

E
となり · · ·

誤 : · · ·自由粒子の波動関数で評価するとpi

E
となり · · ·

• page.40、(3.154)式 2行目

正 : = −i

(
0 σk

σk 0

)
誤 : = −i

(
0 σk

−σk 0

)
• page.62、(3.309)式 3行目

正 : =
1

6m2c4
O3 − 1

6m3c6
βO4 − · · ·

誤 : = − 1
6m2c4

O3 − 1
6m3c6

βO4 − · · ·

• page.62、(3.314)式 2行目

正 : O′ =
β

2mc2
[O, E ] − · · ·

誤 : O′ =
β

mc2
[O, E ] − · · ·

• page.69、(3.361)式

正 :
1
r
(σ · x)Yj3

jlB
= −Yj3

jlA

誤 :
1
r2

(σ · x)Yj3
jlB

= −Yj3
jlA

• page.75、(3.393)式の 1行下

正 : · · ·この関係が満たされることが分かる。C−1 = iγ0γ2

誤 : · · ·この関係が満たされることが分かる。C−1 = −iγ0γ2

1


